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- Orgol Final Practice Prohlems: I urge you to use this only as a supplement to practice
problems of Prof. Horowitz's and problems in your book. This may be on the more

challenging side, so please do not get discouraged if you struggle. However, use itas an
opportunity to step up your game before the final.

Good Luck,
Prof. Murelli

1) Fillin the missing reagents/ intermediates in the boxes shown
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2} Predictthe Result of the Following Reaction . Use a chair structures to show your answer.
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2b) Ifthe above compound was not deuterated , what would be the relationship between the two
products formed. Use structures to explain your answer.
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3) Whatis the relaticnship between the following compounds. Also, do a quick practice of
Newman Projections by drawing Newman structures of the two compounds of C.
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4} The following molecule is Taxol Try not to freak out lookingat it Ithas a lot of stereocenters
_ . init and thusis a nice compound to practice (R} and (S} stereochemistry without having to draw
{n. A5 lotsof different little dinky compounds. Try to circle all of the stereocenters in Taxol, and label
them (R} or (S). Also, what would be the stereochemistry of the double bond?
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o 5) Draw all possible neutral structures with the following molecular formulas.:
L,l\.l 21CaHeO HIC3HA0; ¢) CeHe



5h) Ofthe structures drawn, which best fit the following NMRs?
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